Laser Auto-Collimator

I"# $



%%%%0%0%0%0%%%%0%0%%0%0 %0 %0 %Y o S e Y e e e Y VMV 0% %0

&
OMMMMMIMIMIMMMMMMNN)N)
& MMMMMMMMMMMMMMNN))

* $H IMMMMMMMMN)
CHEODMMMMMMN))

0 DM
IMMMIMMMMMMMMNNN)

,$001
DMMMMMMMMMMNN))

34 $# # 0 )
* 51 $#
*# 4

8 S40MMMMMMMMMMMMN))
8 (SENMMMMMMMMMMMMM)
4
LS4 000DMMMMNN))
78 DM
8, 00MMMMMMMMN))

IIMIIMIMMMMMMIMMMNN)) &
DI & *

IMMMMMIMMMMMNN)) &

DM &
IIMIIMIMIMMMMMMIMIMMN)) & -
IMMMIMIMMMMMMMMIMIMMN)) & 1

DM & 2
IMMMIMMMMMMNN)) & 2
6 #5 )&

IIMIIMIMIMMMMMN& - *
IIMIMIMIMMMMMNNI&E +

DM 2
DM #
IIMIIMIMMIMMMMMME: -+

> 6, >MMMMMMMMMMMMMMMIMMIMMIMMMIMMIMMIMNNINE
%% %6%6%/6%6 %% 00/ b oY o U U I I /0Y0 Y



4 ," 4 9O0<=# 4 $

& 4 $ 4 $ , < #4 % Y
, 493

# #4 6 #HS $ # # ' $ 4 4
14 4,%

'$ $ 4% # 6, ' >6,
@' & A
& 5 " # 4# 4
9 4B # # 4% # # 45
'$ 4% 5C 4 1 4 #
4 $ 4 5 ## ' D410 # ', 40 6

'# $ # 11 #



>&
7$ $ 14 # %
M4

<<# E,@ 4 2%A




# 4

$ . | o’
& ++8 >+ >+ >+ >+
&|++8 < 7 < 77 >+
& ++8 <7 < 77 &+
& ++8 <7 < 77 &
& ++8 < 7 <. 7 &+
& ++8 <7 <. 7 &
< 1
# 4
# 4 $ 5, E,
<<# @ *$< 4 2%A E
7$ % 14 # E,
4 @ A E,
<
5, E,
<< # ' @" +<A
0 @:<# H7.# A
7 E,
< >8'G >' E,
1* >& >' E
< >&4 >' E,
1* >& >' E,
++ >&6 5 # >' E,
<
7@ A E,
1*/@G 4 A E,
7@ A E,
"HS % & ! '




# 1 # # #4 6 $
#
< <
-$ 91 @ A !
-* ]
# & $>3
<
@ A
o + @*A + §
c + @ +A s + J
@A
@A
<# <#
.$ < :
21 G <# 2 r 12
7 4
7$5 4<# 7 4 Ir




& $ 4 "1 ' # 5'

© $5 % #45
& $ 4 #'.# 4 $ : $,
C1 $#4! )
14 # # 6 # 4 ,%$4 5
54## 1440 1 ') 6 #$
"= 45%$ , 505 5# $4
"= 4 5% # 5, 4 5C . $, $ %
# 1
< < # 414 14 # 4 5' #1
# 4 5
%'= # 14 4< #

<0 4 ,%'1 08$
, #1 @# ,$ #1

" 4
G 4 #
5 #
# 41

S #




$
14 4 < # < 0 4' = <
<# 14 < 0 # " 1 4 ,%$14 <
0O 4 # #
% ! #&
4 = $5 $ # 4,9
$, 4 4
%4 1 4
# I # % ; #@ -2 "A

"1 # 4#1 5 ##,

< 4 # 4 # ' 1 #$ , #

< 4 4,% %, ' 4 C,
' $5 8%
'#1 C

"#41 4 ,%$ ' ©5C $

G 14 ,%5 45

% 6 , &

0

% $
14 5 $ 4 1"
U4 # 458 (%,1 41 $$ # 8

o *8 , 0 @& +A



$ #$ $ 6 #$
# 4 # 4 4 $ 5 4 $ 4 4
$ 4 $ ' $4 $ 4 4
$ 8 14 4 4% ##
5 0 $ $ %
G
%" $ # $ 5 45 "$ 0 # 4 #
# $ '$7. '4% 5 ,
%" $ « 5,
%14 # $4 3% 15 05 #5% $ 4
# 5 453 % $ % 5C
%" #1 "4 # C5 & ' 5 #' 5
5 4 10 4 4
I |
* ot

o1"
2% $ 3

- R &



* ) R (+H+

o1-"
/14,5
" $3
- R, (&
o1"
<<# @#I< # * $<A
#H, 4 #1 '$4 4 << # &+
" $3
14 "% #
>& + + +
/!
<C 4 # 4@ ($% # 4 $8A
%4, 7 $@7 A
! 1 4) 5
# 4% " $ # 6 #$
4 4 #5%$ % @ - A
$3
14 " # "@7 "#1 = 4 1A

%4 , 7 4*14 : "7



0819 ' $3 9!

-
o

- o> !
< <$ 4 4 | #4 ' 5
< 1'# " $5 45
<
G(4 $# 414 5 4 1 5 5 4
$ 4 "4 4 "5 5 & 4
$ 5 4 1 4 $ 45 54 5

4 $ 4 4# s S

4 0 $ # $ <# , 1'%$4



45 4 4143
144 1 '4$% 5
4% 5 4 $#

<< #
< # $ "$
& 4 4 < # " * $<
& 4 4 < # " +<
4
‘4 % #

51




4 4 $4 99< # (

4*. 5

<3 7+l

ST &+ 5

*< $ #

4 '$ # '$ 5, 4 # # @ A4 514
$ $

<c @7 A 4 4 4 #  #SH

144 4' @ A'$4 $ 'S $# 6 #$
: 7 #' @& A5 $ $



**<

& 41 5 $ 4%
@ 1 5 # 4#
< 4% $ @ H* A4
4 4 4# 4
& $ 4# @
'‘#4 44 $ 5,
$ ' 4'$ 0
#4 4 44
$

N/




& $ 4%
&
G ($# # # $5 # # # # # $5
"0 14 0 % 4
6! 2%
Sy
A
© 7/
# (C$ 05 "$ ¢ 7 44
$ 4 5 40 &1 " 4 4'$< 0§ <
$ 5# 5 " $ 4
%84 # # $ CS$ : 5 4 $
" # (& K& L &' $ 4



&
14

6 !

$ # 0

4 = $ 4
A #H#

% %ll

4% ' M

=K5 $ s$L' 4

$$ "5

$

'# # $

"#58%$51
cs$'’

50



*00% * 3"

35 % 4 t4

& '$ %% =

0 51 "' 4
o, 44 5% % ' &
#, 0 @& $A



e
o 1 9|
<05'# $4 '0 $ 4 # 70 $ #
7, O 40 $ | ¥
%S # '$ '
o6 ! - !
LAN FYS5AVER
.
- 9 ol
| A["_HIP-‘IBOQ’
i
05 $ 4 # $' 7 5 #
< $ ## L #0 0 4%

C$ $ #



.3
7 $
3% $ < ' H#
o# #1 & 4#1 ## 2
##1 1 <C #10 %
# o & /
= g " o 1
4 4 $ 3
14 $ $ 5 14 $ $ ' 2
5C 4#
4 $ 4
$ 4 $ $ $;15C14 -
& |
w <C 505 # 4 4
4 $ $ 5C 1 $ 4% $ 5C >+
<C 44 # & 2
03 "0, 44 3
$ # #
45 B 0
$




I$#0 4 # 4 #' 0 01 5C 4 14 #

Iy
9 0% I ¥ /0. @ A
0% I ¥ /0. @ A
3 &1 I< s O+ B" *$<
4 [
10 4 I+ %
# I 4 $8@ A
<# I - *$@ 5A
80 4 1+ s $
B I ((+$$@ ,$ 5 A" &
8 41 I+ @ ,$ 5A
$ F+1  $$ | $$
L+ $$ | /$$
$ | +1 s + I s
| + 1 s + I S
B l(($$@ ,$ 5 A" &
8 41 I +@ ,$ 5A
$ I *$$
$ I s I s * |
I ' 4 $ 11 S
B l ((-$%@ ,$ 5 A" &
8 41 I @ .$ 5A
$ I *$$
$ I s * | S *

I 4 $ 11 s /



B l(/(-$%@ ,$ 5 A"

8 41 I @ ,$ 5A
$ I *$$
4 I $ 7 0
I 10 4
10 4 I1+$ /$
I 4 $B@ A
<# I - * $$@ 5A
80 4 1+ s $ + s $
$ I S * 11
| 4 $
, $ 1
&
& *












8 8%,
'$ 4] $ 4 % ' "H#
6 , 8 4 $5 0 41 #
, 0 10 "l ‘T, 4 # 4 5
$ # 5 = $ $
G 14 .,% # ' #
$' $
G 7 "$ ;"$ <5%0 < '#0
46 4 1 % 4 4 $°
$
$ $' $
0
& 4& 5 # 6 ', 4 06 4 #
RV HS
> 1 2
4 3"  A## $ 'l 4 #
' '509%" 1, 4 # 4 5
>3 1 # ?
4 #'$ $ 5 # 1 # 4 5 # #
$= 6
>H# # 5 # ?
43 $$# '# # @4# 9 4' A'4 # ,
' 4 # 4 # K# # 5 # L< 4 # $

4 # $45# 5 4" #

.15 4% 4 # 1 = # # 5,14
1 ,#5 4



% ( )( * k% *( * $+,* -+ * .$ /0 1
I"# $% &
I"# $%'

() +++ |, - *
! 0,,-- 1)

267 '



